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QUESTION 1

Which statementis considered best practice for ESM Content Management? 

A. Designateonly one Manager as publisher. 

B. Schedule package pushes during normal work hours. 

C. Schedule frequent automatic package pushes 

D. Do not retry on a failed automatic package push. 

Correct Answer: C 

 

QUESTION 2

What is the name of the resource you can use to override the default ArcSight mapping IP addresses to geographic
regions? 

A. zones 

B. destinations 

C. locations 

D. categories 

Correct Answer: C 

 

QUESTION 3

What is the default port used by the ArcSight ESM Console to connect to the ArcSight Manager? 

A. TCP 8443 

B. UDP 8443 

C. TCP 9443 

D. UDP 9443 

Correct Answer: A 

 

QUESTION 4

Which string function is used to join two data fields? 

A. Correlate 
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B. Concatenate 

C. Substring 

D. Find 

Correct Answer: B 

 

QUESTION 5

When can the online partition compression task fail? (Select two.) 

A. when the partition being compressed is too old 

B. when events are inserted into the partition that is being compressed 

C. when the compression task takes more than two hours to complete 

D. when the partition compressor does not have the necessary file permissions 

Correct Answer: BC 
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